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1 Introduction

In section 2.2 of [1] it is pointed out that “that the explanation in [2] of the error handling of the Ericsson solution seems to be based on a misunderstanding of the proposal.”
In this response to [1] we provide a figure to further clarify the argumentation in [2] and express our opinion that the enhancements described in [1] will not resolve the issue.
2 Discussion
In [2] it is written:

As a possible improvement Ericsson is suggesting that it should be possible to send dummy PDUs during gaps between bursts. However also these dummy PDUs can get lost. But the treatment of subsequent packets is different if the previous packet was a Dummy Packet compared to the case it was a ‘real’ packet. (i.e. the lost packet P1 could be either a dummy packet, in which TB0 and TB1 should be transmitted with appropriate padding, or a real packet in which TB0 and TB1 should be muted).
 In the figure 1 below it is shown that there are two regular cases. 
· Regular Case 1) a packet P2 is preceded by a packet P1 carrying content. 
· Regular Case 2) a packet P1 is preceded by a Dummy packet. 
Now in both regular cases it might happen that the packet P1 carrying content or the dummy packet might get lost. This is depicted as Failure Case 1) and Failure Case 2). But the proper error handling should be different in case P1 carrying content or the Dummy packet is lost:
· Failure Case 1) “content packet lost”:  The transmission of TB0 and TB1 should be muted in accordance with the requirement that radio block potentially impacted by a lost packet shall be muted.

· Failure Case 2) “dummy packet lost”:  The transmission of TB0 and TB1 shall occur just with padding the unused positions with a well defined pattern.

To our understanding the Ericsson proposal [3] with the two clarifications in [1] that dummy packets are always used and that the byte count is representing the count of the last byte in a packet, does still not allow to distinguish both failure cases. We conjecture that even further improvements of the protocol like introduction of a packet sequence numbers for the Pi, would not help in all cases. Therefore we conclude:

Since an eNB cannot know which failure case has happened, appropriate error handling does not seem to be always possible. In the example the eNB would in both failure cases refrain from sending TB0 and TB1 to meet the requirement that radio blocks potentially impacted by a lost packet shall be muted. This would be appropriate if P1 is lost, but would mean in case “Dummy packet is lost” the muting of more transport blocks than necessary. Since the eNB does not know which kind of packet has been lost, it cannot do better. 
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Figure 1 : Issue how to distinguish failure cases in Ericsson proposal with dummy PDUs

3 Conclusion

In this contribution we have further clarified the concern we have with respect to Ericsson’s content synchronisation proposal. Our understanding is that the improvements proposed in [1] still don’t resolve the issue that it is not possible to minimize the impact of losses on M1.
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